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Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Amount of solar energy received on the

earth’s surface per unit area per unit time
is defined a solar constant. Dimension of
solar constant is ¢
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A particle is moving unidirectionally on a
horizontal plane under the action of a
constant power supplying energy source.
The displacement (s) - time (t) graph that
describes the motion of the particle is
(graphs are drawn schematically and are
not to scale) :

T T wiferd =1t ia o Sei 9T 1 Ush F
U Afas T9ae W U 2 faen § JemaqH 2
=0 F & fod fe | 4 %1 a1 fawere (s) -
[ (1) U I 2 (U Hhales 2) :
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40503640015, t

A block of mass 1.9 kg is at rest at the edge
of a table, of height 1 m. A bullet of mass
0.1 kg collides with the block and sticks to
it. If the velocity of the bullet is 20 m/s in
the horizontal direction just before the
collision then the kinetic energy just before
the combined system strikes the floor, is
[Take g=10 m/s?. Assume there is no
rotational motion and loss of energy after

the collision is negligable.]
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40503640020, 211
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A uniform rod of length I is pivoted at
one of its ends on a vertical shaft of
negligible radius. When the shaft rotates
at angular speed w the rod makes anangle
0 with it (see figure). To find 0 equate the
rate of change of angular momentum
(direction going into the paper)
ml? 3

TR sinf costl about the centre of mass

(CM) to the torque provided by the
horizontal and wvertical forces Fyy and Fy;
about the CM. The value of 0 is then such

that :
cosl) = b 7
21w
cosll = e - i
I 2
()
3
cosll = —?2
21w
Jor
cosl) = '—:"2
3w
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T2 2021 FHIE T o | THA & o 92 569
o 1o =41t & (o= &) 1| 0 1 | Jh w5
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THF FIVIE G H 2F A uiEdq (fame

2
I ™
A % w2sind cos® T 3T forat faem m

qd & =T & AN §) F TW W @M 9
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The mass density of a planet of radius R

varies with the distance r from ils centre as

2
p(r) = p[{l r—zw Thenthe gravitational
R7)

field is maximum at :

r=R

r = ER
9

g = ER
4
1

r= —R
J3

= R & U# Ug § THFH =99 J9d

2
p(r}=pr{1 %}%Hﬁrm%ﬁﬁ-{ﬂ

€1 SH U 1 o & r % R qE W
wAfaeay arm ?

r=R
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r= —R
40503640030. ﬁ

A metallic sphere cools from 50°C to 40°C
in 300 s. If atmospheric temperature
around is 20°C, then the sphere’s

temperature after the next 5 minutes will
be close to :

28°C
] g b
Lo i s

35°C

T o 31 =1 A1 70 300s 5 50°C H 40°C
9% 221 8 o 2| afe THFE AE-T" %
FFE T G9HE 20°C B 30T 5 998 &
A= 39 M &1 99 4 5 19 fasd e
M ?

28°C

31°C

33°C

20°C
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Question Number : 7 Question Id : 40503611012 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A calorimeter of water equivalent 20 g
contains 180 g of water at 25°C. “m’ grams
of steam at 100°C is mixed in it tll the
temperature of the mixure is 31°C. The
value of ‘m’ is close to (Latent heat of

1

water=540 cal g~ ', specific heat of

water=1 cal g1 °C™Y})

2.6

3.2

U FHARME (9 gediF 20 g) H 25°C W
180 g T 1 341 €1 F9H 100°C TITHH i
‘m’ T AreY Tafga 1 S ¥ 5= 7 aEE
31°C 8 | m F fsheam 91 T (3
&l T FH1=540 cal g~ 1, 9 HI fafire
FH =1calg L4

2.6

3.2
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Question Number : 8 Question Id : 40503611013 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
To raise the temperature of a certain mass
of gas by 50°C at a constant pressure,
160 calories of heat is required. When the
same mass of gas is cooled by 100°C at
constant volume, 240 calories of heat is
released. How many degrees of freedom
does each molecule of this gas have

(assume gas to be ideal) ?

fordt foir gu =M =t v T 1 amEE
feoR <9 W 50°C | e F a3 160 Ferd
ST ] AT TSl 2| AfE 9 e & T4l
M &1 100°C ¥ 3021 3 9149 o e e
T TH 19 U 240 FeAr] S FeEpid gt 2 |
™ F Y% ﬁﬂﬁﬁ]ﬁﬂﬁﬁﬁ{degrees of
freedom) FHA T : (T HH {5 719 329 €)
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A block of mass m attached to a massless
spring is performing oscillatory motion of
amplitude ‘A’ on a frictionless horizontal
plane. Ifhalf of the mass of the block breaks
off when it is passing through its
equilibrium point, the amplitude of
oscillation for the remaining system
become fA. The value of fis:

V2

=
2

M||—1.

EEHM m F1 UF 2 UF 5FHM Ued HAME
T e g ¢ 3R U THUEH afas THae W
AW A F T Sled # @ g afg dged
fag 4 e T99 T2 22 94 SR @
THEM A ® 9 9@ 99 g0 1 FEE E
3 F AEE A T ST [ FAAE :
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40503640043.
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o
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Hydrogen ion and singly ionized helium
atom are accelerated, from rest, through
the same potential difference. The ratio
of final speeds of hydrogen and helium

ions is close to:

TEEEA AA R Efad9 F Uhe S
T T TR s | 99E fayEr e
T AR | U S s e S
et =1 S = 5 O feRaes feream 2m 2
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10:7

1:2

Concentric metallic hollow spheres of radii
R and 4R hold charges Q; and Q,
respectively. Given that surface charge
densities of the concentric spheres are
equal, the potential difference V(R) — V(4R)

15 :

3,
4egR

304
16megR

3Q>
'—1-'T|"Eﬂl{

Qs

4regR
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MGl o = g =1 elhR GHh=14 Giel &l
T R 3R 4R & a9 54 WFAw: Q, 3R Q,
e 2 | Afe 3 el T HaE S v
(surface charge density) T 21 1 fa9ar=1

V(R)— V(4R) 1 9F 2 :

- 3Q
4mregR

304
16megR

3Q>
'—l'TI'iI:'ﬂR

Q2

4mregR

Two resistors 4000 and

8000 are

connected in series across a 6 V hatter}r.

The p::-tential difference measured I:n,F a
voltmeter of 10 k) across 400() resistor is

close to :

2V

1.95V

1.8V

206V
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
<1 gfrsi #1 99 4000 R 8000 ¥ T
T AViTEG AT H 6V T 4 F Sirer
&1 U frafa § 10 kQ 9 F v deeard
BT 4000 Ffoe W A1 T faHar & JH
=/ | | fFas Feaq 2 ?

2V
1.95V
1.8V

206W

A perfectly diamagnetic sphere has a
small spherical cavity at its centre, which
is filled with a paramagnetic substance.

The whole system is placed in a uniform

magnetic field E Then the field inside
the paramagnetic substance is :

LTy
{ \
|II L] P ..II
b Sl

much large than ‘B‘ and parallel to

—

B

much large than ‘B‘ but opposite to

—

B
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40503640061. ZEr0
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A uniform magnetic field B exists in a
direction perpendicular to the plane of a
square loop made of a metal wire. The wire
has a diameter of 4 mm and a total length
of 30 cm. The magnetic field changes with
time at a steady rate dB/dt=0.032 Ts 1.
The induced current in the loop is close to
(Resistivity of the metal wire is
1.23x10 ~% Om)

0.61 A
043 A

034 A

053 A

91 % TR H 99 UF FHR o9 & F99d &
Taq Uk 1T &5 B o g ¥ W
=9 4 mm ¥ AN $HH Fel = 30 cm 2
Afs  FEFHI &30 THEAM T
(dB/dt=0.032Ts ~1) & 9fafda & wrar
9 | 3edTia faga a1 5[ 799 | 9 fFas
ey 2

(AR =T g =1.23 x 10~ 8 Qm )

061 A
043 A

034 A
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40503640066, U-23 A

The electric field of a p],a_ne electrnmagneti:
wave pmpagating alc-ng the x direction in

M,

vacuum is E = Egj.CDS{ml kx). The

st
magnetic field B,at the moment t=01is:

—- M
B =Ej\gey cos(kx)k

B = Fo cns{kx}ﬁg
V0 €0

UF HHAA f9ea Fraeg 7, 5 f6 Fama H x
feem & =@ & 2, F1 fama &3

— My
E =Ejjcos(wt —kx) 1 899 t=0 W
SR THIHE 4F BT

—- A
B =E;\gey cos(kx)k
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-1

E,n Y
= cos(kx)k
40503640068. vH0%0
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Two light waves having the same
wavelength A in vacuum are in phase
initially. Then the first wave travelsa path
L, through a medium of refractive
index n; while the second wave travels a
path of length L, through a medium of
refractive index n,. After this the phase

dilfference between the two waves is :

2l L)
A \m ny |

— (mLy —nyLl,)

— (mpLy —mLy)
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<1 Y19l it T, o aiTesd A w9 g
#1 A F fAaid § Fem (phase) TH T9H
€1 AfE UF T FH n, ATEAE & T A=
¥ L, TE UF 99 T SR gE T o,
AYAAIF 6 UFH AFH H L, o= T 9Y H
?ﬁﬁ?ﬁﬂﬁﬁ?ﬁﬁﬁﬁﬂ(pﬂae
difference) @M :

.2’.1'

— (4L —mnyL5)
A

2

— (mpLy —mLy)
A

2Ly L)
Alm ny

Two sources of light emit X-rays of
wavelength T nm and visible light of
waveleng th 500 nm, respectively. Both the
sources emit light of the same power
200 W. The ratio of the number density of
photons of X-rays to the number density of
photons of the visible light of the given

waveleng ths is:

www.FirstRanker.com
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40503640077, 200

500

TFHT19 F = &@d FI9: 1 nm Hpﬁ'cfl el
X-fF20 3R 500 nm T F T9F THW
Ieafotd &ed & | 21 Sl | Seaferd JaTe i
wIfs 200 W &1 9 3 =l 9 fser aret
X~ Tooli ® T2 o HeE T 3 g9 W
T FI2M % T e F1 S 26

The radius R of a nucleus of mass number
A can be estimated by the formula
R=(1.3x10"1)AY3 m. It follows that
the mass density of a nucleus is of the order
of : (M =M '~ 1.67x10-27 kg)

prul'. = neut —
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40503640079, 107 kg m

100 kgm~3
10Y kgm 3

10" kpm—*

TEHA = A F UE A19E & B R #
FTHE R=(1.3x10 " 15)Al/3 m TF | =
W Hehdl € | T U A o FoAHE S
qfETo Fife (order of magnitude) B
(9eM 1 F=99F = 29 F g0 =
1.67x10 % kg)

10°kg m~3
100 kgm~?
10¥ kgm?

10¥ kgm ™3

If a semiconductor photodiode can detect
a photon with a maximum wavelength of
400 nm, then its band gap energy is :
Planck’s constant h=6.63 x 10 ~3* ].s.

[ A ok Lol — 3 o108 o
Wt oy LY s

=t = 1 ] =
I_ll.r'LLLI. wrL I.I.BJ.I.L L™ l.l.llr P=J
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40503640083, >-1eV

1.1eV
20eV

1.5eV

TF AYEEF F =91 UF FeeEE AtuFad
400 nm TUTeS F FREFA F 929 FL Gl
T 99 50 Ad=EeE F1 AvSY H 9 ¢

ek T0F h=6.63x10 " |s.
U9 &1 Md c=3 %108 ms !

31eV
1.1eV
20eV

1.5eV

Which of the following will NOT be
observed when a multimeter (operating in
resistance measuring mode) probes
connected across a component, are just

reversed ?
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Multimeter shows an equal
deflection in both cases i.e. before and
after reversing the probes if the

chosen component is resistor.

Multimeter shows NQO deflection in
both cases i.e. before and after
reversing the probes if the chosen

component is capacitor.

Multimeter shows NO deflection in
both cases i.e. before and after
reversing the probes if the chosen

component is metal wire.

Multimeter shows a deflection,
accompanied by a splash of light out
of connected component in one
direction and NO deflection on
reversing the probes if the chosen

component is LED.

frfataa § 9 s fegrd 784 om, 5= =
9 TS T UF Ao (WY 3
e ¥ yaifed) & 94 61 UF g9 i T8
o fean S g ?

=ifE A1 T e uiae ¥, o= O
e R A H UF T F T8 A
T A HE SF HTE § UF HHA
fadrqm g9 21
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Afg <A1 T eI Wi B, qe w5

el AR 918 H UH gHL HI e

T e HIeT 2F1 a1 H s of fagmo
40503640088, & =9l 1

Ifg I T AGFE g H 9K &, q
W9 i 98t 3R 9 § U gEL F e
T W HeRbE 5F a9 ¥ UH
HaM fadmo 2 =9 21

afg 91 41 939 LED &, U faun |
Hee M o T 98 U fasrqo femma
TR Ty H e T eEEd H U
THF F W9 Y9 e ¢ $ 9=
%1 U THL I T8 T T HTE fasqor
T T 2

A block starts moving up an inclined plane
of inclination 30" with an initial velocity

of Uy- It comes back to its initial position

with velocity I?D The value of the

coelficient of kinetic fricion between the

block and the inclined plane is close to

L, The nearest integer to 1 is
1000
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Question Number : 21 Question Id : 40503611026 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

30° F 9 UF AT TH0A W TFH T
TR T 0, § SR HI X Ferd § 9%
HITH AT YRIESE T T e 9 Teht i

2 & it ®1 afe 2 SR wHae &«
2
Wﬁmmwﬁﬁﬁrﬁn%ﬁ%ﬁmﬁ
qulish 2

5t0 5.002

Question Number : 22 Question Id : 40503611027 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Anmassless equilateral triangle EFG of side

‘a’ (As shown in figure) has three particles

of mass m situated at its vertices. The

moment of inertia of the system about the

line EX perpendicular to EG in the plane of

N
EFG is ,:_—Uﬂ‘lﬂz where N is an integer. The

value of N is
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Question Number : 22 Question Id : 40503611027 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

U 254HH IEd 9HaE B1Ys EFG &1 T 94l
& TEE ‘2’ © (F3 =d@) 1 9% o i
fagsll W E= A m F UF-TEH FU W@ E
gfe EX Y (i f EFG # a1 # € SiREG %

= = r [‘\
eaEd 8) F Wd EFG STecd ST ,)—Umaz

& 3 N U quis &, @ N &1 9
g

5 to0 5.002

Question Number : 23 Question Id : 40503611028 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If minimum possible work is done by a
refrigerator in converting 100 grams of
water at 0°C to ice, how much heat (in
calories) is released to the surroundings at
temperature 27°C (Latent heat of

ice=80 Cal/ gram) to the nearest integer ?
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Question Number : 23 Question Id : 40503611028 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Ffg T WFse 0°C T & 100 I 9

%1 9 1 FTd g0 A § Fagerdl € 9 THE

B AT (AT9EE 27°C) H B T S

1 WA FAd § fra g (A w5 oTE

FH =80 Cal/gram) ? I0X Fhzaq Ui

¥ ferd |

5t0 5.002

Question Number : 24 Question Id : 40503611029 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A galvanometer coil has 500 turns and each
turn has an average area of 3 x 10 im? If
a torque of 1.5 Nm is required to keep this
coil parallel to a magnetic field when a
current of 0.5 A is flowing through it, the

strength of the field (in T) is

5t0 5.002

Question Number : 24 Question Id : 40503611029 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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ﬁﬁ?ﬁ‘fﬁ‘ﬂﬁﬂiﬁ?ﬁﬁmﬂ THE (turns)

T A 3 A F A SF%E 3x 104 m?

&1 gfe s Feel | 0.5 A fagg s = @ &

T 54 UF FHEHE 93 H 39 & % FHERR

TE & fad 1.5 Nm 9@ S0 &l savgeal

Ul &1 9 U § I 95 HE ¥
|
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Question Number : 25 Question Id : 40503611030 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

When an object is kept at a distance of
30 cm from a concave mirror, the image is
formed at a distance of 10 cm from the
mirror. If the object is moved with a speed
of 9 cms !, the speed (in cms 1) with

which image moves at that instant is

5 t0 5.002

Question Number : 25 Question Id : 40503611030 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

9 UF e 90 F 30 om T W UE 95

Tl WA & T S Wit 390 9 10 cm 4

WA ¢ | A T T F 9ems ! F AT H

T W 91 39 &0 gfafasa w1 7

(cms ~ 1 H) foFaAt 2rm I
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Chemistry
Section Id : 405036401
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036769
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 40503611031 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An ionic micelle is formed on the addition

of :

liquid diethyl ether to aqueous NaCl

solution

excess water to liquid

\ @ Fam

N-\x =N I’Fg"
i

C CH,4

sodium stearate to pure toluene
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excess water to ]jquid

I

SRR
40503640099, 13C Hs
F At e T
7 SIEUYE 97 1 St NaCl faeg
T I T
- A I 59
B " PH wnnca
/_, \\:f/" N 6 -'F[ ?:-TH'_‘[ Tﬁ
H,C CH,
Hif ez i F Y e J 2o W
S-S 1 2
N_N@ G et o
£ NE
H,C CHj
H e W

100 mL of 0.1 M HCl is taken in a beaker
and to it 100 mL of 0.1 M NaOH is added
in steps of 2 mL and the pH is continuously
measured. Which of the following graphs

—correctly depicts the change in pH ?
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Options :
i
/
pH 7}------
P
vol. of NaOH
40503640100. »
£ [-- Pl -
pH
/j

vol, of NaOH

—_—

vol. of NaOH

—
e
H
P N
vol, of NaQOH

—

0.1 M HCI F 100 mL 1 U =t § o
S # a9 S9H 0.1 M NaOH % 100 mL &1
2mL % W& # SN Wl € 991 $EH pH
= = ST T2 | pH H 9fEda & feau
foru feafafiaa sergl § 9 9 18 22
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40503640100. —

NaOH =T #Ed4
—_—
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Consider the following molecules and

statements related to them :

Q.
~H
e D"'H.
(A) 2
H O
| ~T TH
e Hﬂ_f

(a) (B) is more likely to be crystalline
than (A)

(b)  (B) has higher boiling point than (A)

(c) (B) dissolves more readily than (A)

in water
Identify the correct option from below :
(a) and (b) are true
only (a) is true

(a) and (c) are true

(b) and (c) are true

www.FirstRanker.com
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= e vd 9wt wEE ) fFEn
ﬁﬁ"l:

(a) (A) =t ger H (B)  forefom &M =it
el TEEAT 2 |

(b) (A) ¥ (B) & F%iH 3= & |

(c) (A) = e H (B) Sieel 9 I H I
A E

= ¥ 9 Wl faweq 9 ¢

(a) &1 (b) BeA F |
T (a) T4 T
(a) T9T (c) TF 1

(b) T (c) T 1

| 3
For the reaction 2A + 3B + ;C — 3P

which statement is correct 7
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M FA AT E?

dny 3 dng _ 3 dng

dt 2 dt
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Consider the hypothetical situation where
the azimuthal quantum number, I, takes
values 0, 1, 2, ...... n+1, where n is the
principal quantum number. Then, the
element with atomic number :

6 has a 2p-valence subshell

8 is the first noble gas

9 is the first alkali metal

13 has a half-filled valence subshell

TitawfeTd et 4 afz v f53 ™ 9= =
& ‘v’ % o foeia #Eren gemn T %
HH0,1,2, .....n, n+1 B, T a0, A F&AT
6 T T 2p-HATSTHl STHITIH & |
8 99 I W B

9 §YH &g =g B

13 i TG HersTeha SUehITITeh 21 |
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A mixture of one mole each of H;,_, He and
O, each are enclosed in a cylinder of
volume V at temperature T. If the partial
pressure of I-I2 is 2 atm, the total pressure
of the gases in the cylinder is :

227 atm
H alm
14 atm

38 atm

H,, He @41 O, 9% & U HIe & fHg0 =i
g T R AET V 9 fafa=t § 9= @
Sl B ﬂﬁHzﬂﬂﬂfﬁFﬁ?{lﬁl.?atm%.ﬁT
faferet § 1 =1 wegl 2E 2

22 atm
6 atm
14 atm

38 atm

The five successive ionization enthalpies of
an element are 800, 2427, 3658, 25024 and
32824 k] mol 1. The number of valence

electrons in the element is : _
www.FirstRanker.com
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Options :
40503640120, 4

2

TF dd $1 919 IR AT TEferar
800, 2427, 3658, 25024 74T 32824 k] mol ~ !

€| e | HATSEhdl Soiaeil %l S €
4
2
3
5

The strengths of 5.6 volume hydrogen
peroxide (of density 1 g/ mL) in terms of
mass percentage and molarity (M),
respectively, are :

(Take molar mass of hydrogen peroxide
as 34 g/ mol)

1.7 and 0.25

www.FirstRanker.com

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice .
www.FirstRanker.com

40503640125, 0-85and 0.5

0.85 and 0.25

1.7 and 0.5

5.6 AT BIgSisT WSS (97 1g/mL)
o1 WereraT, Hefa Ffaerdan q=n Jenfer (M) &
w9 ¥, HE: T

(BTS2 W-ATEES F1 Hiol =981
34 g/mol )

1.7 9491 0.25

0.85 q1 0.5

0.85 @41 0.25

1.7 941 0.5
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Among the statements (I — IV), the correct

ones are :©

(Il ' Be has smaller atomic radius

compared to Mg,

(II) Be has higher ionization enthalpy
than AL

(ITI)  Charge/radius ratio of Be is greater
than that of Al

(IV) Both Be and Al form mainly covalent

compounds.
(), (I1) and (IIT)
(), (IT) and (IV)
(1), (1IT) and (V)

(1), (ITT) and (IV)

FeAl (1 — IV) 5 4 W&l oA

() Mg =i G H Be =l WA =21 B2t
z

(I) Al =1 3197 Be T 34H T-Eredt ST
z

(II) Al =1 319 Be &1 A=Y/ B 19
Al 2

(IV) =i Be 991 Al J&A4: Hegara AMTH
T E

(), (IT) =T (IIT)

(), (IT) 7= (IV)
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(In), (L) =1 (TV)

(D, (I) == (IV)

The incorrect statement is :

T F99 2

Manga_n,ate and permanganate ions
are tetrahedral

Manganate and permanganate ions

are paramagnetic

In manganate and permanganate
ions, the w-bonding takes place by
overlap of p-orbitals of oxygen and
d-orbitals of manganese

Manganate ion is green in colour and

permanganate ionis pur ple in colour

Zl

T 991 WHTHE AEA AT9aF 19 2
gl
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e Ty e ST § ST 5
p-FEFH] qA HUAS F d-FeH F
40503640134, ST % I w-3T&Y 90 € |

T2 AEA 22 T 1 & 99 WHTE A8
Arereifed 71 & 21

Complex A has a composition of
H,O,Cl;Cr. If the complex on treatment
with conc. H,50, loses 13.5% of its original
mass, the correct molecular formula of A
is:

|Given : atomic mass of Cr=52 amu and
Cl=35amul]

[Cr(H,0)5CICL, - HyO
[Cr(H0),CLJCT - 2H,0
[Cr(H,0);CL] - 3H0

[Cr(H,0)]Cl,

TFa A F1 T927 H,,0,CLCr ¥1 32 TFa
% H,S0, % 919 sAfafwan i 9 A=
el Hefd 1 13.5% @ 2a &, a1 A &1 "el
i g T

[feon e 2 T H@efd Cr=52 amu 491

Cl=35 amu] www.FirstRanker.com
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Options :
20503640136, | F(HLO)5CLC, - HO

[Cr(H,0),CL]CT- 2H,0
[Cr(H,0),CL] - 3H0

[Cr(H,0)]Cl,

The d-electron configuration of
[Ru(en);]Cl, and [Fe(H,0).]Cl,,

respectivel}f are :

& g 8 -2
b2y %5 omd B2 g

tgg eg and tfﬁg e{é

g 6 _0
2y € and tag €y

0
&

2

I3 A
tzge and tzg eg

[Ru(en),]CL, 7T [Fe(H,0)|CL, % d-geiae
fomara wme: €

2

tg eg TI ty, e
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ﬂ
t e ﬁ?-th
40503640141, & B 2

ﬂ'
t?-L g g @ tZL 4

3, €g T i, e

The incorrect statement(s) among (a) — (d)
regarding acid rain is (are) :
(a) It can corrode water pipes.

(b) It can damage structures made up

of stone.

(c) It cannot cause respiratory ailments
in animals

(d) Itis not harmful for trees
(a), (b) and (d)
(a), (c) and (d)
(c) and (d)

(c) only

www.FirstRanker.com
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ST 99 F 999 H 99 (a)—(d) F H
AT F97 /2

(a) & W1 % WGl T WeN A 2
(b) & TeeR i S WA 1 & wgar

=
(c) % Haferdi ¥ yau- &1 SHEl &1 FHRE
& A HFA 2

(d) Ie T F foru wferes T T
(a), (b) @ (d)
(a), (c) T (d)
(c) @ (d)

(c) A=

The increasing order of the reactivity of the
following compounds in nucleophilic
addition reaction is :

Propanal, Benzaldehyde, Propanone,

Butanone

Propanal < Propanone < Butanone <
Benza_ldeh}rde

Benzaldehyde < Propanal <

Pr opanone < Butanone

Benzaldeh}rde < Butanone <

Pr opanone < Prr:-pana]

www.FirstRanker.com
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Butanone < Pmpannne <

40503640151, Benzaldehyde < Propanal

freafafaa AifreT =1 Fifasei 9m=
AfaTFsti | AfafwaTeiier = 9o 9 2 :
= m : = i:{m ; - m r = m

= - - m - - < = f{r

= FQ" < = < o < =

= =

-\-\‘:-\-\-\ ‘:-‘ FQ* <

Consider the following reaction :

O
| oF) OH)a
-Q"::'-.. .:::::;W Ll
Chromic .
anhydride

The product ‘P’ gives positive ceric
ammonium nitrate test. This is because of

the presence of which of these —OH
group(s) ?

P LY
(L) dlivh L)
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40503640153, (P) and (d)

(b) only

(d) only

e S ¥ 1 ge 398 9 R — OH wuE =t
Iqfeefd & w0 22
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Three isomers A, B and C (mol. formula

CgH;¢N) give the following results :

AandC Dhaohzation

P+Q

(i) Hydrolysis E (produd of A)

(i) oxidation S (product of Q)
EMnOg+HT)

R has lower boiling point than S

B

Ce¢H550,C1

alkali-insoluble product

A, B and C, respectively are :

CH,CH,

MH.
o 2

CHLCH;,

NH,

Ty

CHaCH,

CHLCH
Wk

CH,NHCH, NH,
O]
CHaCHs
NHCH,CH, NH,
~ e NP
) (O]
g
CHCH,
CH,NH NH,
e ik,
& {
1 [
CHy CHLCHy
CH,NHCH, CH,CH,
e o
b st
HoN

A FEEEEl A, B @91 C (AHA CH, N)

fefefaa aftomm &5 €
e = K (A 395
AT C_TETT b6 {iy T +': Sedle)

fii) s
[KMnCrg +H*)

S (C 1 3918 )

R %1 FH9H S 4 F9 2|

5 _CeHsS0,Cl | eqR—syeerTofiel Ses

A BANC FHI: &
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www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice

www.FirstRanker.com
. CHiCHy | CHNHCH, _ NH,
| CH4CH;
mH
40503640156. c
CHCH, _ NHCH,CH, . NH,
(o] - [O]
HyM CHyCH,
H: CHLMH NH;
N N s Y
O [ by
'--...--"\u_:zt_.'_% - | - -. |
CHy CHoCH,
NEH, CHLNEICH; CH,CHy
g g P
T eHyoHy m.rxf

The decreasi_ng order of react:ivit}r of the

following compounds towards

nucleophilic substitution (5,.2) is :

CH,Cl CH,Cl
g

o] ., O ,

@ (ID)

CH,CI CH,Cl

(I > (i) > (V) > (I)

W

+

:-__._}"I'

\
vt

+
N =
N =

www.FirstRanker.com
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10503640162, X eI S EN)

(1) > (1) > (V) > (I)

f=fafaa 9ifmes] =1 Tfasrn gfaer

(Sn2) T ufa sAfufsharsficra =1 == 49 ¢ :
CH,Cl CH,Cl
I\ H\/Nf}z

O , O ;

(I (I)

CH,Cl CH,Cl

S ’ /f‘-i

NO, NO, O,N NO,

(I11m) (IV)
(1) > (II) > (IV) > (I)
(IV) > (1) > (1) > @)
(I) > (W) > (1) > (IV)
(Il) > (II) > (IV) > (I)

www.FirstRanker.com
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Match the f::r]l::rwing drugs with their

therapeutic actions :

(i) Ranitidine (a) Antidepressant

(ii) Nardil (b)  Antibiotic
(Phenelzine)

(iif) Chloramphenicol (c)  Antihistamine

(iv) Dimetane (d) Antacid
(Brompheniramine)

(e) Analgesic

(1)-(d); (i)-(c); (ii1)-(a); (iv)-(e)

()-(d); ()-(a); (iii)-(b); (v)-(c)

()-(e); (11)-(a); (iii)-(c); (iv)-(d)

()-(a); (ii)}-(c); (iii)-(b); (iv)-(e)

o |1 GHTd hiTa :
(i) IAfzZm (a) WiGeTaHEE
(ii) Rfedt (fFAfesm) (b) widwitas
(iii) FEATTERfTRTE (c) wfafeefm
(iv) STEHeA (d) wfa-s1=
(SRR )
(e) TISERI

()-(d); (i)~(c); (ii1)-(a); (iv)-(e)

(1)-(d); (1)-(a); (iii)-(b); (iv)-(c)

www.FirstRanker.com
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40503640166, (V-(€); (D)-(a); (iiD)~(c); (iv)-(d)

()-(a); (ii)-(c); (iii)-(b); (iv)-(e)

The compound A in the following
reactions is :

(i) CHAMgBr /H50

(i) Cone. HySO, /A

(i) O B
(i) Zn/H,0 ~ cxh

c (i) Conc. KOH
(i) A ’

Pl

O —CooK™' +

i\E;}—CHpH

CH, O

Ba(OH | I
p _22OM: e C=cH-C—cH,

o)
I _CHs
CgHs—C—CH [
CH;
0

CgHs —C—CHj,

0
= CHy—C=CH;

O
Il

C.H.—C _(CH..OCH
B o 2 3
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Question Number : 44 Question Id : 40503611049 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
frfafaa sfafwEnst § 9ifF A 7

(i) CHaMgBr /Ho0

(ii) HIE H.S0, /A
':_i_}{J" — C+ D
(ii) Zn/H,0

g KOH /_ c
c VI . {,_/;\—CDOJK* i
(i) A

7\
{ O —CH,0H

CH; O
Ba(OH

DMHE,C C=CH-C- CH,
A

0
I _CH,
CeHs—C—CH [
CH,
0

CgH:—CH,—C—CH,

O
Il

CgHs — C—CH,CHj
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The major pmduct in the fnllnwing

reaction is :

I

/H 1 tBuOH
Heat

frefafaa afufrned § 9= 3o 2

A H\ t-BuOH
A :
ST

www.FirstRanker.com
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40503640174.

Ot-Bu

6.023 % 1022 molecules are present in 10 g
of a substance “x". The mnlarit}’ of a

solution -::r:-ntai_nj_ng 5 g of substance ‘1" in
2 L solution is w102

5 to0 5.002

Question Number : 46 Question Id : 40503611051 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
TF 99 ‘2’ F 10 g H 6.023 x 102 ]
Iufeed F1 o 39 faerem @it HentE, fawes
2L faemm F w=id ‘v #15 g 2, M
- X102

5 to 5.002
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Question Number : 47 Question Id : 40503611052 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If 250 cm? of an aqueous solution

containing .73 g of a protein A is isotonic

with one litre of another aqueous solution

containing 1.65 g of a protein B, at 298 K,

the ratio of the molecular masses of A and

Bis %102 (to the nearest

integer).

5t05.002

Question Number : 47 Question Id : 40503611052 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

IS WEH A F U Seid faedd #6250 cm’

a9 A #1073 g ¥, WA B & UH oA

faer T 1 oiet & WM #1165 g &,

208 K W TR € A 91 B & a7fvas

Hefaal 1 9 @ %102

(FrFzas quis) |

5t05.002

Question Number : 48 Question Id : 40503611053 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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An acidic solution of dichromate is
electrolyzed for 8 minutes using 2A

current. As per the following equation

Cr03 +14H +6 e 52 ¥ +7H,0

The amount of Cr®* obtained was 0.104
g. The efficiency of the process(in%])is
(Take : F=96000 C, At. mass of

chromium=>52)

5 t0 5.002

Question Number : 48 Question Id : 40503611053 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

TEHIHE T U g faered &l 2A fagaym
=1 39T FF 8 T2 7 T2a uefeq fFa
| FEfefEd JHE F e W
Cry03” +14 H  +6 e =2 Cr¥* +7 H,0
T4 Cr* =l ATHferd 7B 0.104 g I TE |
WeRH i SHAT (% H) T (A : F=96000 C,
FHIFEH T THY] Hafd=52)

5t05.002

Question Number : 49 Question Id : 40503611054 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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The volume (in mL) of 0.1 N NaOH
required to neutralise 10 mL of 0.1 N
phosphinic acid is

5 to 5.002

Question Number : 49 Question Id : 40503611054 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

0.1 N ®IfEFRAF 37 F 10 mL 1 3SHEH

F4 & AU =99 0.1 N NaOH 1 21304
(mL#) % |

5t05.002

Question Number : 50 Question Id : 40503611055 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

™
The number of C=0 groups presentin a

tripeptide Asp —Glu—Lys is r

5 to0 5.002

Question Number : 50 Question Id : 40503611055 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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TF ZEIRES, Asp—Glu—Lys # 3ufteq

C=0 W@l # den @ |
5t05.002

Mathematics

Section Id : 405036402
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036771
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 40503611056 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let & | and R2 be two relations defined as

follows :
R,={(a, b) e R2:a2+b%e Q} and
R,={(a,b) e R?: a® +b”e Q}, where Qis the

set of all rational numbers. Then :
R 1 and R2 are both transitive.

R 18 transiive but R2 is nol transitive.

www.FirstRanker.com
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40503640183 R, is transitive but R, is not transitive.

Meither RT nor Rz is transitive.

<1 FF = R, 1 R, 9 few mu #
R,={(a, b) e R?:a’ + b e Q} T
R,={(a, b) e R : a2+b2e Q}, &l Q Wi
i gEmH = Hg=a €,

R, 3R R, M M 2 |

R, HFHME & W R, HHET T4 |

R, HFHME 8 W R, WHHE 81 2 |

R, AR, & | H1E +ft Heris Tl ¢ |

The set of all real values of A for which the
quadratic equations,
(A2+1)x2—4xx+2=0 always have

exactly one root in the interval (0, 1) is :
(=3, -1)
0,2)

(1,3]

www.FirstRanker.com
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(24]
40503640188.

A F 3 T Grdias NS F 5=,
faaw  faw  fgema w@HiwHTOw,
(A2+1)x2—4\x+2=0, F1 qqa (0, 1) o

(=3, -1)
0,2)
(1,3]

(2 4]

If Zy, Z, are complex numbers such that
Re(zy)=|z,—1|, Re(z;)=|z,—1| and

arg(z; — 2, ) = %, then Im(z,+z,) is

equal to :

k]

e
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2
J3

40503640192.

?Ifaz]amzzﬁﬁﬁﬂfiqﬂﬁ@rﬁ% o Ter
feu Re(zy)=|z1—1|, =|z,— 1| T

arg(zy —zp) = % g, Im(zq +z,) ==

e

ol

)

Siv

Let A be a 3x3 matrix such that

2
a dj A= 1 and
1

| R T
= b =

B=adj(adj A).
If [A|=Aand |(B ~!)!|= p, then the ordered
pair, (A is equal to :

www.FirstRanker.com
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o, L)
81)

AT A UF 3x3 AT ¢, faus fau

11
0 2|39 B=adj(adj A)
1

i

adj A =

— = b3

g1 Ffg |Al=\ a9 (B )| =p € & wiwE
T, (], p) TR E

www.FirstRanker.com
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Correct Marks : 4 Wrong Marks : 1

If the term independent of ¥ in the

- S k. i
expansion of {—x —] isk then18 k
2 3x

is equal to:

11

9
?ﬂ%{gxz %] F famr #, x 9 =09 18

ke a1 18k a= T :

11
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If the sum of the series
| 3 1 4
20+ 19 — + 19— + 18— + ... th
5 5 5 upto n
term is 488 and the nt! term is negative,
then :
n=~60
n=41
nth term is 43
5
n term is —4
Afg guir
' 3 1 4
20+ 19 — + 19— + 18— + ... & nth
5 5 5 T e
TF, AMTES 488 AN nth 92T FHOMHF 3,
G
n=~60
n=41
nth 72 4% %
5
nth 72 —4%
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Correct Marks : 4 Wrong Marks : 1
' B . i
lim (@ + 2x)° — (3x)°

I—a

T (@=0) is equal to :
3

(3a + x)3 — (4x)S

L | et

1 1
. (a+2x)3 — (3x)3
lim @720 = O 4 o) s ¥ -
(3a + x)3 — (&x)3
B
L3
1
3
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Bl6)

40503640208.

Suppose f(x) is a polynomial of degree four,
having critical points at —1, 0, 1. If
T={x ¢ R|f(x)=f(0)}, then the sum of

squares of all the elements of T is :

A f(x), =1 4 1 U 995 ¢ forah o
fag —1,0,1 %1 IR T={x e R |f(x) =f(0)},
@ T F Tt 7=l & T F ATEA ¢ ;

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 59 Question Id : 40503611064 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If the surface area of a cube is increasing
alt a rate of 3.6 cmzfsec, retaining its
shape; then the rate of change of its volume
(in cm?/sec.), when the length of a side of

the cube is 10 cm, is :

10

18

20

S 9 FY ] A0 TG gY, TFH 99 F1 T2
AFFA 3.6 cm?2/sec HI L Y FE @ E, 71 TH0H
AT % TG 1 L (cm?/sec H), 59 =9
I T 1 1 =E 10 cm &, € :

10

18

20
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14+x

If jsin I( ai ]Lia::f—‘i{xjtan Hx)

B(x)+C, where C is a constant of

integration, then the ordered pair

(A(x), B(x)) can be :
(x+1, %)
[x +1, xEJ
(x -1, k)
=147
i
Isin I[ . d ]dxzﬂ{x)tan I(v'{;)i
1+x
B(x) +C 2 W& C W& HAheH 3T=R €, o
HHT T (A(x), B(x)) & Tl E :
(x+1, %)
(x+1,7)
(x~1,4%)
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Question Number : 61 Question Id : 40503611066 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If the value of the 1'_t1tegral

.jl,f’?_ £
o (1-x2)%2

is E then k is equal to :
b

.2\.@ F o

-Z\E T
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If x3dy + xy dx=x?dy + 2y dx ; y(2) =e and
x> 1, then y(4) is equal to :

3
—
2 Je
1
—
2 Je
e

2
5
—je
2

afe x3dy +xy dx=x2dy+2y dx ; y(2)=e
A x> 1, T y(4) TR E :

e

M|

- e

M||—='
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Question Number : 63 Question Id : 40503611068 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If a AABC has vertices A(—1, 7), B(—7, 1)
and C(5, —5), then its orthocentre has

coordinates :

P R
6 JIRSE)
| e
p . -y

8 IR
S, -

At TF &= ABC & 3™ fag A(-1, 7),
B(—7,1) @1 C(5, —5) &, 1 $9h o a-5=%

& fewis €
3 3
&
{3 3
[55]
(=3,3)
(3, —=3)
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Question Number : 64 Question Id : 40503611069 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let the latus ractum of the parabola y?=4x

be the common chord to the circles C; and

CP_ each of them having radius 2\‘@ . Then,
the distance between the centres of the

circles C; and G, is :

s

o

12

Afe TEed 2 = 4x 1 A= sa, & g,
C, W1 C, FI S¥AfTe e &, s I § o
ToE 1 A 2,58 WEHi C, WO, F

FEfgdi s AR T E

-

"

N

12
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Let e, and e, be the eccenlricities of the

P S
ellipse, — + LA =1(b < 5) and the
25 T h
-
hyperbola, — ¥ = respectively
J 16 hz J

satisfying e;e,=1. If a and B are the
distances between the foci of the ellipse and
the foci of the hyperbola respectively, then
the ordered pair («, ) is equal to :

(5%
5

(8, 10)
(5
3
(8,12)
'xz 2
amr gegE, L4 Y (b < 5) am
2% .0 h
- 2 . .
sfemaem X _ Y 1 &Y seF=a
16 p2

FHI: ¢ HWEZ%ﬁIETEE.:I 31 Az Sdga
AR sAfaera & MfuF=al & 9ra F giEl
FAN: o T B §, T HEA TH (o, B) TR
e

www.FirstRanker.com

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

s m]

40503640237. [ 3

(8,10)

(5=)
3

(8,12)

The plane which bisects the line joining
the points (4, —2, 3) and (2,4, —1) at right
angles also passes through the point :

(4,0,1)
(4,0, —1)
(0, —1,1)

{0.1,—1)

a8 HHG, S Tag#l (4, —2,3) T2 (2,4, —1)
Fal g, e § 3 frg fag 4 off S s 272

(4,0, 1)

(4,0, —1)
www.FirstRanker.com
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40503640243, (& ~ 1 1)

{01, —1j

Let x; (1 =i = 10) be ten observations of a
10

random variable X. If ZJ (x; —p)=3and
i=1

10 _

L(xi- |:-}‘r’1 =9 where 0 p e R, then

i=1

the standard deviation of these

observations is:
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HA ATgTsgeh =1 X o &4 94 x, (1 <i < 10)
10 10

HE Z[xt- -pl=3 HEITZ(IE —pn}2 =9,
=] ju]

SEfE 0% peR T, A 5T AUl H AHE
faaem 2

The probability that a randomly chosen

5-digit number is made from exactly two
digits is :

121
10

13
104

150
104

www.FirstRanker.com
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15
10

40503640252.

AG=TAN Al TS U= Sl Tl T WA & A

121
10%
134

104

150
104

10*

Leta, b,ce RbesuchthataZ+b2+c2=1. If

a cosi =hcc-s{ﬂ | ETFT] = (CC0S [U | %T]‘

where 0 = % then the angle between the

Al M, M, M,

vectors a i }hj. +ck and bi H:Jr'. +ak

ig:
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40503640253, 2

e

e

A a, b, ce R, T7% o0 a2+ b2+ 2=1 T
qfe acosH—bcos[H+2—;] —ccos[H+ :_] %

m[}=§%,ﬁ'[maf Fbj +ck @

bi }cj. }ak %Eﬁﬁﬁﬁlaﬁm%:

2
3

e

e
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Let p, g, r be three statements such that

the truth value Df.{]? Aq) = (~q v 1) is
F. Then the truth values of p, g, r are

respectively :
p o B
E, I.F
EIE

LET

I p, q T4 r TH 0 & E & Fo9
(pPArq)— (~qv 1) & GF9F F &, @
p,q, r % FHEY: TETE T

LY
E, T.F
LLE

LET
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Let S be the set of all integer solutions,

(x, y, z), of the system of equations

x—2y+5z=0
—2x+4y+z=0
—7x+14y+9z=

such that 15 = xz+y2 + 22 = 150. Then,

the number of elements in the set S is equal

to

5t05.002

Question Number : 71 Question Id : 40503611076 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

RICEicTy AECap)

x—2y+5z=0

—2x +4y+z=0

—7x+14y+9z=0

%@h—ﬂq%ﬁi{x,y,z} E‘[II‘EFEP—IS%, IERED

fm 15 < 22412 + z2< 150; WS F AT

&+ T T |

5 to0 5.002

Question Number : 72 Question Id : 40503611077 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
The total number of 3 - digit numbers,

whose sum of digits is 10, is

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002

Question Number : 72 Question Id : 40503611077 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
10 & & T T ® |

5t05.002

Question Number : 73 Question Id : 40503611078 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If m arithmetic means (A.Ms) and three
geometric means (G.Ms) are inserted
between 3 and 243 such that 4 A M. is
equal to 2"d G.M., then m is equal to

5t05.002

Question Number : 73 Question Id : 40503611078 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Afe 3 91 243 & =9 m TG /S q91 T4
U 91e 59 YT Mol T 2 T =ien g9
HIEA FEY UL A/ % S €, 9 m e

—% |

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 74 Question Id : 40503611079 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the tangent to the curve, y=e" at a point
(c, e*) and the normal to the parabola,
y?=4x at the point (1, 2) intersect at the
same point on the x-axis, then the value of

cis

5t05.002

Question Number : 74 Question Id : 40503611079 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

4fg 9, y=e"%ﬁﬁ§ (c, e°) T T9] Tl a1

e y2=4x & &g (1, 2) W Alyer= 241

x-3181 % e & fog § TR 91 €, Tl ¢ 1 HE

€ |

5t05.002

Question Number : 75 Question Id : 40503611080 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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Let a plane P contain two lines

e

r = : I h[: I ;] he R and

M,

-

r = f l M(} k] ek,

I[f Q(a, B, ¥) is the foot of the perpendicular
drawn from the point M(1, 0, 1) to P, then
3a+ B +y)equals

5 to0 5.002

Question Number : 75 Question Id : 40503611080 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

AT 21
=i :«(; | ;} A e Ra

g = jiu[f E),MER,WWP

W frora &1 afe fag M(1,0, 1) 9 H9T€ P R
= T A F W, Tag Q(a, B, y) B
Na+P+y) TMRE |

5 to0 5.002
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